Geometry Quiz Name: KE\I

2.4-2.7 Proof Quiz Hour:

Choose reasons from the following list for #1 - 12

Given Substitution Property Subtraction Property
Segment Addition Postulate Angle Addition Postulate Def. of angle bisector
Def. of Midpoint Transitive Property Def. of congruent
Def. of complementary Simplify Addition Property
Def of supplementary Def. of Right Angle
t. Given: Kis betweenJandL. JK=6, KL=10 _ R _
Prove: JL=16 = ./ i
J K L.
Statements Reasons
1. Kis betweenJand L 1. al Ven
2. JK=6,KL=10 3, ﬁl\/ﬁﬂ
3. JL=JK+KL 3, on POS'hMOd'&
4.1L=6+10 2. Subbshhahon property
5. JL=16 s. _addrhon P[I)[X:r'hj
A
o B
2. Given: B is the midpoint of AC. AB
Prove: BD = BC 5
C
Statements Reasons
1. BD = AB 1. {] iven
2. Bis the midpoint of AC 2. a lV€Iﬂ

(8]

def. ot midpoint

AB =
a.“BE* + _Yonsitive prop of =




{ V\\ v

. -] o fl ‘“'-\_‘ ’/
Given: m £1=75% m £2 =105 s'zl S 2//
Prove: /1 and £2 are supplementary Srr—— e

Statements Reasons
1. m/Z1=75% m £2=105° AiLven

2. mZ4l+m£2=75°+105°
3. m4Al+m£2=180°

4. £1and £2 are supplementary

1; y o
2. ___Adal oper

s _SImMplify E
s _def of Supplementary

A
Given: AABC with £C a right angle
LA and £B are complementary
Prove: m ZA+m ZB+m £C = 180° e ¥
¢ ~B
Statements Reasons
1. ZA and 4B are complementary 1, QIVGY)
2. m LA+m LB =90° 2. _def af COmpl(’/mOY\mrU
3. £LCaright angle 3. Qu IV&H
4. m £C=90° .. _defof Ylgh'l' o !

5. mZA+m4LB+m £LC=180°

Given: R, J, and K are collinear

5 Mmmgaﬁy

RI=3,RK=8 S -
Prove: JK=5 J ;
Statements Beasons
1. R, J, and K are collinear,RJ=3,RK=8 1. QIVEM

2. RI+JK=RK
3.3+JK=8

4. JK=5

. _Seqment addition postulate
s SUDSHiution
. _Suplvachon




Given: WD bisects ZCWK; WK bisects ZDWM

Prove: ZCWD = ZKWM

Statements

A B
22) K
WM
s

Reasons

1. WD bisects ZCWK
WK bisects ZDWM

2. LCWD = ZDWK
3. LDWK = ZKWM
4, LCWD = LKWM

Given: £1 and £2 are right angles
Prove: £1=/2

. Qiven
v,

_defof ¥ bisector
-_def of 3 bisector
_trapsitive property of =

.

[

w

=

Statements Reasons
1. Z1and £2 are right angles H a \Vf/h
def *
2. mZ1=90; m£2=290 2. ef of riaht 3'S
” J "
3. mZl=m/sL2 3, F -
& L1wtd . dOFO-F > ¥'s




For #8 — 12, rewrite the statements in the correct order and then supply the reasons.

8. Given: RS=8; RT=34

Prove: ST =26 El | ; i :r
Statements Reasons

1.RS=9; RT=7%4 1. @W@ﬂ i

2.RG+ST=RT 2. segroertt addition postulate

3 O ST 2% 5. ubsHIution

2. CT=20 2. SLphractioN

X 4

8 +/S'[,—4'tf ST =26 RSM RS 58 RL>31"

9. Given: ZCand £B are complementary; m /C=50°

Prove: m /B =40°
Statements Reasons

1.3C4¥-B are comp;meC=50° gfve/n

> (YBCtm% B =90° 2. defof com PleMeanj

.50+ Map=40 3. gubshtwhon

4% B = 40° a. SuptrachioN

m £C +m LBZ90° m £B=70° 50° £ 7B = 90°

/Cand /B are comp/k;meﬁﬁry; m £C=50°




10.

11.

Given: ZA and 4B are supplementary
£ Cand 4B are supplementary
Prove: ZA=/C

Statements Reasons
1.4R + 3B arrfé gu f 1. (ﬁivm
C."'lf :
AR SR 2. def of Supp

SmaC+ myB= l?D"
43R +makb= mact+maB

3. def of supp:
4. SupShtution

5. 3A=mM3C 5. Guptyachol)
©-xAZ¥C L. Defof 2 x's
M LA+M LB =m LCam LB Lpe7T m LA=TTZC
mLA+mLB=WC+mLB=18O
ZAand £B are supple tary
/ZCand £B are)a‘@:::tary
A
M

Given: ZMPR is a right angle

Prove: ZMPK and £ZKPR are complementary

Statements Reasons
L AMPR IS & right angle iven
2. pn%MPR=A0 ef of right=%

3. e MPY + m% 1€PR= M3 MPL
4.3 MPK + mx KPR= 9p°
>4 MPK- & YPR are (omp

2 fmgle Addition Postulate
4. SVbshtuthion
> Def of Complementary

m £MPR = 90°

m LZMPK + m £KPR = 90°

ZMPR is a right angle

£ZMPK and ZKPR are complementary

| m ALMPK+m £ZKPR =m £ZMPR




12.

Given: ZGBW is a right angle; m 2GBT = 35° \\

Prove: m ZTBW = 55° “H_\bg
Statements Reasons W

LLGPW IS n ht anglc lven

2. GRT= %"

5 M%ERW= 40°

Zﬁm rignt angle

.03 GRTHMETOW=MGRW Angle Addition ostulate-

5.25° + Mm% TOW=90°
6. (% TOW = 590

5. Su ks htwhon
6. Syl Chon

£GBW is 3 sight angle

m ZGBT + m £LTBW = m £ZGBW

m Lcsyéﬁ"

m £LTBW = 55°

m £G =90°

35°+m LTBW =90°




